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MATH 154, Exam #2, Paqt I, Spring 2019

Instructions: This portioh of the exam is to be answered hased on yo
at home. Submit this document with your answers along with the Ex
based. Part |l of the exan;rn will be completed in class.

To complete this portion of the exam, you will nead the Excel file 15
Blackboard. You should perform any calculations in Excel, and then
questions directly in the ‘Word document. You may need to copy an

1. Using the data op Sheet 7, Calculate a complete set of descri
the following below.
a. Mean and standard deviation. (6 points)

e 5408 4K
ghdev. 553346
\

b. Five-numbel;‘ summary. (10 points)
Muw 120 2900 #9%.S
|=Q. 2no Meay 33230
Median QVTS ’

c. Range and mode. (4 points)

\rw&éu
Mocs

33K Fo
Jdoso

2. Using the same data on Sheet 7, make a histogram of car val
with axis labels and a descriptive title. Describe the shape o
skewed, right sk;ewed or some other shape? (6 points)

r Excal worl that vou completed
al file upan which the answers are

s Lelztaadsk also posted in
rite your answers to the holded
paste graphs here as well,

tive statistics for car value. Report

2. Label your graph appropriately
he graph: is it syrmmetric, left




4. What does the X in the boxplot represent? (3 points)

Ao meano

5. On Sheet 8, the number of accidents reported on the job an
weighted average of this data, treating the category greater
below the value you find. What is the average number of a

[ 11

cheir likelihood is listed. Find the
12n or equal to 8 25 just 9. Report
cicents reported? (6 points)

6. On Sheet 8, does the data provided represent a probabilit: v

reasoning. (4 points)
and adds o L

7. Createa simulati?n in Excel that will model 100 rolls of a 20-5
numbered 1-20. Freeze a copy of the simulation, and report
and the proportl?n of rolls that resulted ina 9. (6 points)

Mawers (L bk hald be
| i
megon 4.3
’Pmpwma B = %Oo

8. The standard deviation of iIncome is $26,631 for a sample of 886 incomes. Find the standard

stribution? Explzain your

ed die whose sides are
e average outcome of the rolls,

“

Sondar

$D L
errorif SE = = | (5 points)
| 9l0. 2%
0.
|
|
9. The formula for the standard error for a proportion is SE = 1;;—'3)-. if 495 people have tried

the lasagna in a sample of 856, what is the standard error for ghe proportion found? (5 points)

O.0163




; X=gf . e
10. The formula for the standard score is 7 = —;‘* The mean nefght of women is 54" with a

standard deviation of 3.1”, and the mean height of men is 7
Richard is 5’2" a
(8 points)

with a standard deviation of 3.5”.
nd Pamela is 4'11”. Which of them is shortel for their gender? Explain.

Sened ke hao o

7 - SCOre

Excel Work: (20 points)




MATH 154, Exam #2, Part I, Spring 2019 Name {f Y

Instructions: This portion of the exam is to be answered entirely in cliss without F
calculator, but it may not be on a device that connects tothe Interne
places unless the question asks for a different number of

xeel. You may use a
. Round answers to two decimal
places.

1. What does it indicate for the skewness of a histogram if the

ean is lowar than the median?
(3 points)

i “%f - SM

2. Asample of 240 people is taken and their weights measured.

below. Based on the graph, describe the shape of the distrib
(6 points)

Vhistogram of the data is shown
ion, and state the modal class.

0

medd elaso (190, dos ] W

3. A 1/6 scale model ﬁl)f a house made cf a revolutionary plastic usgs 0.51
material. How much of the new material is needed for the full-
used for all of the same elements as in the modei? (6 points)

subic meters of the new
ize structure if the plastic is

1)

0.51 (6)° 10 1o @3




4. Aboxplot comparing the ages of men and women in a sam pl
differences you notice between the ages of men and wome

™ o ram Sy s 03 : 0 e i 2 ke
womparative boxplot ol foe QY

o gt § koo
- fii?{i;giif%/@fdi4-;%wﬂm Lo &

(4 points each)

" i p
ol fpgied T '
1km= 062137 m
limt = 5280 #t

1.8608 L

Im = 1.093¢
1ir = 2.54 ¢cm {axactivi
1om= 0.3937 in

a. Convert 927 miles to kilometers

qg%4x&2|5? -

b. Convert 927 miles to inches
927 % SAPKI12= §3334720

c. Convert 141°F to degrees Celsjus

(= 5(1-22) = (o0

1441(.9

2. Atable of unit conversions is shown beiow. Use it to perform

is shown. Describe any
iccording to the graph. (5 points)

sender

T ——

ot g comnin hughas

F cooman,

!
e following unit conversions.

C=3(F-32°)




6. The standard score for Aleyah’s temperature test is z == —72.
and has a standard deviation of 0.5°F. The observation valu
standard score equationto be x = u + zo. What is Aleyah’
(5 points)

Tr4 + (-23)(0.5)= 96.2

. If the mean of the testis 97.4°F
can be found by rearranging the
emperature according to the test?

sed an the information shown,
values. (4 points each)

7. Ascreenshot bel‘pw shows a small dataset, sample size 10, B
write the Excel f?rmulas you'd need to calculate the request
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a. What formula would be needed to find the maan of the dda?

= AVEEAGE (AGL: A |0)

b. What formula would be needed to find the sample standafl deviation?

= STDEV.S (Ael: AG(0)

c. What formula Mould be needed to find the population stadtlard deviation?

- ITDEV.? (AGL: AGIo)

L S

8. When a standard deviation value is requested and the probiernfioes nat specify wnether to
calculate the sample or population standard deviation, which ofle should you assume? (3 points)




9. A probability distribution is shown below. Use itto answer 1
x 0 1 2 3 4
p(x) 4% 11% 31% 3% 19%
d. P(x = 3) 8(7
(=]
b, Plx<?) [ 50/
o
c. Plxzh) 2 7—%
d. P3<x<6) 3 o
0 /5
e. P(x<0) - ©
0%
f. Px<10Rx = 6) gscy
o
10. Three coins are flipped and the outcome of each flip is record

the possible outcomes of the three flips? (6 points)

N
NN
H/\——f ﬁ/\T H/\T

f 119

& questions that follow. (3 points each)
5 6 7
9% 7%

d as either Hor T. What are all




